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PSLE TAMIL LANGUAGE (0007) 
 

For Examination from 2017 
 

1. ­�p©�� g¡bkw�wll 
 

wlÆ ah­c�â §b�kwh¿t��� Åh¹È, g­m§b��p πºÆÝbl 
u¼Åbkwp§�� e�b�kw¢h¿kwbÝ §b�t���t�â μkx³ g¡bkwm ­b�År 
ah�³k{�³ e­bÌt�×âwÑbx³ gw��l, g§��l, §�t�l, eÎ��l 
kx³ÅÜg×b� g§c�ÅÌ³bwÈm eÎt�ÅÌ³bwÈm ah­n� i¼ÅÌk 
w¼t�p§º­bÜ×t �×âwhÑ ÅÑrt�l kzm. in�t �×âwhÑc g�b�p§g� 
­�p©��â g¡bkw�wll kzm. wÜ×l ah�È¢h¿whÑ 
a�p§h�³bwkewb�� u¼Åbkwp§�� ­�p©�� g¡bkw�wll πâÅ¼­bÚ: 
 

1.1 gw��l 
 

 eÎt�, g§c�, §�m Å�Æl ah­n� §¿Åhw³bÝ §àÅlwhÑk gw��t 
�­� ªºn��rhÅ eÅÒp§�t��l 

 

1.2 g§��l 
 

 �®Ìl �­� e���whÑ¶m w¼t�whÑ¶m g§c�t�®Ìl al¿� 
eÎt�t�®Ìl �¹Ñ­bwÈm e�ÒÅbwÈm e�t�h¹t�l  

 

1.3 §�t�l 
 

 §¿Åhw³bÝ §àÅlwhÑp e§b¼Ô�rn� �º³bÝ uc�ºpª�â 
ÅbyÆ��p §�t�l  
 §¿Åhw³bÝ §àÅlwhÑp §�t�p ªºn�ewb�� aÅÜh×e³b��³ 
ÆÝbkwÔkz Æh�³Òt�l   

 

1.4 eÎ��l  

 

1.5 g§c�ÅÌk w¼t�p§º­bÜ×m 

 

1.6 eÎt�ÅÌk w¼t�p§º­bÜ×m                                                        

 ewb�kwp§�m w��h¹t �h¿pªkz qÜ× w¼t�whÑp e§b¼t�­bwÈm 
�×n� e­bÌ¡h�´Âm �×n� w¼t� ÅÑrc�¶�àm ah­pª 
μh×¶�àm eÎ��l 

 oÒkwb��h³p §brt� a�l ullÑÅÜh×p §ÜØ¶m a�gÝb� 
e�b�rªh�³ �mμh�³ w¼t�whÑ¶m u�rÈwhÑ¶m �¹Ñ­bwÈm 
e�ÒÅbwÈm w¼t�p§º­bÜ×m e�y�l 

 ÆÝbhÅp ªºn�ewb�� a�Üzº³ w¼t�whÑk ewb�kwp§�� 
§z�´À¼n� g�rne��t�p e§b¼t�­bÝ e­bÌ¡h�h³¶m 
e�bÞh³¶m §³â§�t� eÎ��l  
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2. g�rÈ ah­pªμh× 
 

e�b�kwp§llÒ iÚ�t g�rÈt �®Ð ÆÝbt�bllwll πâÅ¼­bÚ ah­¶m. 
 
 

ÆÝbt�bll 1: w��h¹ (40 ­�pe§�wll, 20%) 
 

ivÆÝbt�bÒl i¹�� ÆÝbkwll i�me§Úm. aÅÜÚll oâÚ 
w��p§�t�p§�� �h¿pª. i� zØpªwhÑ a�p§h�³bwkewb�� ah­¶m. 
­Üe×b¼ ÆÝb §�te�b�h¹ a�p§h�³bwkewb�� ah­¶m. §�te�b�r 6 
w���wÒl ah­¶m. aÅÜØl 5 w���wÒl ­��g­ §��wll i�me§Úm.       
6-kÅ� w��t�l gwllÆkzØ i¼kzm. ­b�Årwll w��h¹ eÎ�Å�Üz 
u�Æ³bw 8 �h�ce�bÜwll ÅË�wp§�m. ivÆ¹�� ÆÝbkwÔll ­b�År 
qg�àm oâØhÝt g�rne��t� 100 e�bÜwÔkzk zh×³b­l w��h¹ 
eÎ�gÅ��m. in�t �bÔkwbÝ g¡¹m 50 ¢®��wll kzm.  
 

ÆÝbt�bll 2: e­bÌ (90 ­�pe§�wll, 45%) 

ivÆÝbt�bÒl w¼t�Ø�l, e­bÌp §³â§b�, e�y¶ll/§Ëe­bÌ 
kx³ÅÜh×e³b�� e­bt�m 40 ÆÝbkwll i�me§Úm. ­b�År ahÝt� 
ÆÝbkwÔkzm Æh�³ÒkwgÅ��m. ivÆÝbt�bÒl ‘a’ πºÈ, ‘k’ πºÈ eÝ 
i¼ πºÈwll i�me§Úm. ‘a’ πºÆl 25 e�ºÈÆh� ÆÝbkwÔm ‘k’ πºÆl 
15 e�ºÈÆh�/�³Æh� ÆÝbkwÔm i�me§Úm. ÆÝbt�bll 2-il ¡bâz 
Åhwk w¼t�Ø�l §z�wll i�me§Úm. ahÅ μâà�rÈk w¼t�Ø�l, 
e�ºÈÆh�k w¼t�Ø�l, w¼t� ÆÑkwp§�k w¼t�Ø�l, �³Æh�k 
w¼t�Ø�l eâ§Ý. e�ºÈÆh�k w¼t�Ø�l §z�´l e�bÜe§b¼ll ÆÝbÈm 
i�me§Úm. in�t �bÔkzº³ g¡¹m 1 ­� 40 ¢®��wll kzm. 

ÆÝbt�bll 3: Åbye­bÌ (50 ­�pe§�wll, 25%) 
 

Åbye­bÌt g�rÆl 2 {Úwll i�me§Úm. ahÅ ÅbyÆ�� Åb�t�l, 
oÒkwb��h³e³b��³ uh¹³b�l eâ§Ý. w�Þt �h¹´l i�me§Úm o¼ 
Åb�pªp §z�h³ ­b�År g�rÅbÑr μâÞh¿´l Åb�t�k wb��gÅ��m. 
uc�ºpª, e�bl¿Ît�m, �¹Ñm, th� ¡³m kx³ÅÜØâ a�p§h�´l 
­�pe§�wll ÅË�wp§�m. a�â πâÝr 50-55 ÆÝb�wÔkzll ah­n� tr 
oÒkwb��h³e³b��³ uh¹³b�Àl ­b�År m�§�gÅ��m. 
w¼t�p§º­bÜ×m ¢wÎm Å��m g�rÅbÑr ­b�Åº�m �¿ ����l 
ÆÝbkwhÑk gw�� uh¹³b�gÅ��m. itg�rÈkzº³ g¡¹m q×kzh×³ 10 
¢®��wll kzm.  
 

ÆÝbt�bll 3: gw��l w¼t�Ø�l (20 ­�pe§�wll, 10%) 
 

gw��l w¼t�Ø�l g�rÆl 10 e�ºÈÆh� ÆÝbkwll i�me§Úm. oveÅb¼ 
ÆÝbÈm 3 e�ºÈwhÑk ewb��¼kzm. e�y�, uh¹³b�l, �ÜÚh¹, wh�, 
aØkhw, ÆÑm§¹m, aØÆpª, ÆÝbÆÜgwÜ× �º³bÝ §�th�t g�rne��t�l 
g§bâ× �h¿pªwÒl ÆÝbkwll i�me§Úm. gw��l w¼t�Ø�l g�rÈ 
zÚm§àÅl ÆÝbkwhÑ¶m e�¼h¹ ÆÝbkwhÑ¶m ullÑ�kx´¼kzm. og¹ 
g�rÆl it�h¿pªwll ahÝt�m i�me§×gÅ��m eâx× aÅ�³®lh¿. 
itg�rÈkzº³ g¡¹m q×kzh×³ 30 ¢®��wll kzm. 
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3.  g�rÈ ÆÅ¹ a��Åh� 
 

e�b�kwp§llÒ iÚ�t g�rÈ  
�®Ð (0007) 

 
 
 

�bll 
(g¡¹m) 

e§b¼Ñ�kwm ÆÝb 
Åhw 

ÆÝbkwÒâ 
e��khw 

­�pe§� 
(­�p§ÑÈ)  

 

1 

 (50 ¢) 

w��h¹ 
(100 e�bÜwÔkzk 
zh×³b­l) 
 
1.1 �h¿ph§ a�p§h�³bwk  
   ewb���  

 
1.2 §�te�b�h¹   
   a�p§h�³bwk ewb��� 
   (6 w���wll; 5 w���wÒl  
   ­��g­ §��wll;             
   8 u�Æce�bÜwll)  
 

 

 

 

w��h¹ 

 
 
 
 
2 

(o¼ 
ÆÝbÆÜz 

­��m 
Æh�³Òt�l) 

40 (20%) 

 

 

40 

 

 

 

 

2     

(1 ­� 
40 ¢) 

w¼t�Ø�l ­ÜÚm e­bÌ  
­¹ªm §³â§b�m  

‘a’ πºÈ 

  90 (45%) 

A1 gÅÜÚh­  
A2 e�y¶ll/§Ëe­bÌ 
A3 ah�e­bÌ/ec�m  
A4 μâà�rÈk w¼t�Ø�l 
 

e�ºÈÆh� 
e�ºÈÆh� 
e�ºÈÆh� 
e�ºÈÆh� 

5 
5 
5 
5 

10/5% 
10/5% 
10/5% 
10/5% 

B5 e�ºÈÆh�k w¼t�Ø�l   
   ­ÜÚm e�bÜe§b¼ll 
  

e�ºÈÆh� 5 10/5% 

‘k’ πºÈ      
C6 oÀ gÅÚ§b��c e�bÜwll  
 
 

  

 
gwb��� 
i��whÑ 
¢h×È 
e�y�l  

 

 
4 

 
8/4% 

D7 w¼t� ÆÑkwp§�k  
   w¼t�Ø�l   
 
D8 �³Æh�k w¼t�Ø�l     

e�ºÈÆh�, 
�³Æh� 

11 32/16% 

3 

(�­br 
10 ¢) 

 

(30 ¢) 

Åbye­bÌ  
1. ÅbyÆ�� Åb�t�l 
2. oÒkwb��h³e³b��³   
   uh¹³b�l 
 

gw��l w¼t�Ø�l 

 
�³Æh� 

 
 

e�ºÈÆh� 

 

1 
1 
 
 

10 

70 (35%) 
20/10% 
30/15% 

 
 

20/10% 


